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IBPS RRBs graming bank current affairs questions with answers

1. India was recently elected into United Nations Joint Inspection Unit (JIU) after defeating?

China-Ans

USA

Russia

Brazil

2. NATGRID Stands For:

National Incumbent Grid

National Intelligence Grid-Ans

Narcotics Incumbent Grid

Narcotics Intelligence Grid

3. The Governments of Four Indian States (Jharkhand, MIzoram, Sikkim and Lakshwadeep) recently signed an MOU with Statistical Ministry for ISSP, it stands for -

Indian Statistical Strengthening Project-Ans

Indian Statistical Stability Project

Indian Substantial Stability Project

Indian Substantial Strengthening Project

4. Union Cabinet recently cleared Whistleblowers' Bill 2011, which is meant to. 

Provide protection to persons reporting misconduct by a government servant.-Ans

Initiate Action Against a Judge

Make Authorities more accountable to public

None of These

5. At what price the wheat will be provided to BPL (Below Poverty Line) Category by government under recently passed National food security bill prepared by Harsh Munder -

3 Rs./kg

2 Rs./kg-Ans

1 Rs./kg

4 Rs./kg

6. NCHER Bill for Higher (University) education was recently tabled into Rajya Sabha. This regulatory body will scrap currently existing UGC and AICTE bodies and Stands for -

National Committee for Higher Education and Research

National Commission for Higher Education and Research-Ans

National Commission of Higher Education and Research

National Committee of Higher Education and Research

7. Union Government recently approved operation of Social security fund which is meant for the benefit of ?

Unorganized Sector Workers-Ans

Civil Servants

Private Companies Workforce

Middle Income Families

8. Which Political Party won the recent MCD Elections after its Trifurcation?

Congress

BJP-Ans

Bahujan Samaj Party

Akali Dal

9. HRD Ministry recently launched a web portal for NSIGSE, a scheme meant to aid girls for their studies. In this scheme, I Stands for -

Information

Incentive-Ans

Inhibition

Intelligence

10. Who is current Union Urban Development Minister ?

Kamal Nath-Ans

Jairam Ramesh

Ajeet Seth

P Chidambaram

11. Urban Development Ministry recently Launched NCMC Card to provide better Travel experience to the people. The card is also known as -

Aadhaar Card

MORE-Ans

PAN Card

Voter ID Card

12 Integrated Skill Development scheme is meant for training rural youth for -

Textile and Apparel sector-Ans

Basic Computer Trainings

Telecom Sector

Agriculture Sector

13. Mamoni Scheme meant for reducing Maternal Mortality ratio is implemented in the state of -

Madhya Pradesh

Assam-Ans

Uttar Pradesh

Himachal Pradesh

14. CAG of India is recently appointed as External auditor of IAEA and WIPO. 'C' in the Name Stands for -

Controller

Comptroller-Ans

Commissioner

Cashier

15. Who is currently the CAG of India ?

Hari Narayan

Vinod Rai-Ans

S Y Quraishi

Montek Singh Ahluwalia

16. Kundankulam Nuclear Power Plant is being built in collaboration with which Country?

Australia-Ans

Russia

USA

france

17. Australia recently lifted ban on export of which of following Nuclear raw materials to India?

Uranium-Ans

Plutonium

Thorium

Aluminium

18. Dam 999 is a Banned film based on a Controversial Dam causing long lasting conflict between states of Kerala and Tamilnadu. That Dam is -

Idamalayar Dam

Mangalam Dam

Aathupalayam Dam

Mullaperiyar Dam-Ans

19. India was granted a Clean Waiver by NSG Members for implementation of Indo-US Nuclear Deal. 'S' in the name stands for -

Supporters

Suppliers-Ans

Sanctioning

Seizing

20. Which is the first Indian State to implement the Public service guarantee Act-

Rajasthan-Ans

Uttarakhand

Uttar Pradesh

Punjab

21 Government recently signed a tripartite peace agreement with UPDS, a prominent insurgent group in Assam. 'S' in the name stands for -

Development

Democratic-Ans

Demolishing

Dictators

22. Who is currently the Chairman of Planning Commission of India?

S Y Quarishi

M S Ahluwalia-Ans

Hari Narayan

C Rangrajan

23 Which is the first State/UT in the Country to issue E-Stamp Papers in all Denominations?

Rajasthan

Uttar Pradesh

Delhi-Ans

Uttarakhand

24 What is new time period of Advance booking of reservation tickets as proposed by railway ministry recently ? -

60 Days

90 Days

120 Days-Ans

150 Days

25. Aadhaar is an ambitious project under supervision of Nandan Nilekani and implemented by UIDAI, It stands for -

User Identification Agency of India

Unique Identification Authority of India-Ans

User Identification Authority of India

Unique Identification Agency of India

26. NDSAP is a recently approved policy to facilitate access to central government owned shareable information. It Stands For -

National Data Sharing and Accessibility Policy-Ans

National Data Secrecy and Applicability Policy

National Data Sharing and Applicability Policy

National Data Secrecy and Accessibility Policy

27 World Bank recently approved a Billion dollar loan to clean which of the following Indian Rivers-

Ganga-Ans

Yamuna

Narmada

Godavari

28. Which Indian state recently passed set up an 'Agriculture Cabinet' and passed a policy to make itself an organic state-

Madhya Pradesh-Ans

Assam

Uttar Pradesh

Himachal Pradesh

29. Rashtriya Swasthya Bima Yojana is meant to provide health insurance cover to which of the following -

Pregnant Women

BPL Families in unorganized sector-Ans

Civil Servants

Farmers

30. Recently Formed SIT (Special Investigation Team) on Black Money is headed by -

B P Jeevan Reddy-Ans

Vinod Rai

S Y Quraishi

U K Sinha

31. Which Indian State has the lowest CSR (Child Sex Ratio) in both Urban and Rural scenario according to a recently issued report?

Himachal Pradesh

Uttar Pradesh

Bihar

Haryana -Ans

32. Which Indian State recently offered Government jobs to Farmers whose lands were occupied for Rajiv gandhi Thermal Power Plant?

Uttar Pradesh

Haryana-Ans

Himachal Pradesh

Arunachal Pradesh

33. To what percent India recently increased its quota in IMF (International Monetary Fund) ?

3.00 %

2.75 %-Ans

4.00 %

2.50 %

34. Which Indian State recently became first to provide a guarantee of urban property titles to its residents ?

Tamilnadu

Kerala

Karnataka-Ans

Madhya Pradesh

35. How was India ranked for its Innovativeness according to recent Annual Global Innovation Barometer ?

Third

Fourth

Sixth-Ans

Second

36. Which two government schemes were recently converged to create for durability and effectiveness for the purpose -

NRHM and MPLADS

MPLADS and MGNREGA-Ans

MGNREGA and NRHM

RSBY and MGNREGA

37. Which Indian State recently received a Loan of $109 Million for its Agricultural Competitiveness Project ?

Haryana

Uttar Pradesh

Rajasthan-Ans

Himachal Pradesh

38. Which Train follows the longest Indian Railways route joining Dibrugarh Town (Assam) with Kanyakumari ?

Bhagirathi Express

Duranto Express

Vivek Express-Ans

Sampark Kranti

39. Who is The newly appointed USA Ambassador to India?

Nancy Powell-Ans

Albert Peter Burleigh

condoleezza rice

Jerome Bonnafont

40. The world Bank recently approved a $200 Million Loan to which Indian State in order to help it become India's first Carbon Neutral State-

Haryana

Arunachal Pradesh

Assam

Himachal Pradesh-Ans

41. Who is the Current Union Rural Development Minister?

Kapil Sibal

Jairam Ramesh-Ans

Kamal Nath

Anand Sharma

42 Which State recently Engaged DMRC for a 560 - KM Bullet Train project in its territory?

Arunachal Pradesh

Karnataka

Kerala-Ans

Tamilnadu

43. Which Indian state is said to have best literacy rate (About 94 % Literacy) ?

Tamilnadu

Kerala-Ans

Karnataka

Goa

44. Which Rashtriya Lok Dal (RLD) leader recently Joined Union Ministers' Cabinet as Civil Aviation Minister -

Ajit Singh-Ans

Jayant Chaudhary

Sanjay Singh Chauhan

Sarika Singh

45. Who is the Current Indian Foreign Secretary ?

A K Seth

Ranjan Mathai-Ans

U K Sinha

M S Ahluwalia 

46. Whois the newly appointed Chief election commissioner of India ?

S Y Quereshi

V S Sampath-Ans

Montek Singh Ahluwalia

Hamid Ansari

47 Who is the newly appointed chief of Indian Navy ?

D K Joshi-Ans

Bikram Singh

V K Singh

P V Naik

48 Which country has recently appointed Mr. Michael Steiner as its ambassdor to India ?

Germany-Ans

USA

France

Spain

49. Who is the newly elected Home Minister of India ?

Mukul Roy

Sushil Kumar Shinde-Ans

P Chidambaram

Sharad Pawar

50. Mohammed Waheed, who recently visited India is the newly elected president of which country ?

Maldives-Ans

Iran

Syria

Libya

51. Which Indian State wil host world economic summit on India in November 2012 ?

Haryana-Ans

Himachal Pradesh

Maharashtra

Uttar Pradesh

52. India recently conducted its first naval exercise with Japan callled -

Sahyog Kaijin-Ans

Jimex 12

Slinex 12

Operation Shoorveer

53. The Indian Born person that is recently appointed as president of European Bank for Reconstruction and Development (EBRD)?

Suma Chakrabarti-Ans

Pranab Mukherjee

Sudarshan Patnaik

P Chidambaram

54. The Indian person appointed as executive director in world bank is -

Suma Chakrabarti

Arvind Virmani-Ans

Ashok Kumar Lahiri

Pranab Mukherjee

55. After a recent cabinet reshuffle followed by President Pranab Mukherjee's resignation, Finance minsitry is given to P Chidambaram and Veerappa Molly has been given the ministry of -

Railways

Corporate Affairs and Power-Ans

Home Ministry

Defence

56 Which Indian State has the lowest CSR (Child Sex Ratio) in both Urban and Rural scenario according to a recently issued report?

Himachal Pradesh

Uttar Pradesh

Bihar

Haryana-Ans

57. Which Indian State recently offered Government jobs to Farmers whose lands were occupied for Rajiv gandhi Thermal Power Plant?

Uttar Pradesh

Haryana-Ans

Himachal Pradesh

Arunachal Pradesh

58. To what percent India recently increased its quota in IMF (International Monetary Fund) ?

3.00 %

2.75 %-Ans

4.00 %

2.50 %

59. Which Indian State recently became first to provide a guarantee of urban property titles to its residents ?

Tamilnadu

Kerala

Karnataka-Ans

Madhya Pradesh

60. How was India ranked for its Innovativeness according to recent Annual Global Innovation Barometer ?

Third

Fourth

Sixth-Ans

Second

61. Which two government schemes were recently converged to create for durability and effectiveness for the purpose -

NRHM and MPLADS

MPLADS and MGNREGA-Ans

MGNREGA and NRHM

RSBY and MGNREGA

62. Which Indian State recently received a Loan of $109 Million for its Agricultural Competitiveness Project ?

Haryana

Uttar Pradesh

Rajasthan-Ans

Himachal Pradesh

63. Which Train follows the longest Indian Railways route joining Dibrugarh Town (Assam) with Kanyakumari ?

Bhagirathi Express

Duranto Express

Vivek Express-Ans

Sampark Kranti

64. Who is The newly appointed USA Ambassador to India?

Nancy Powell-Ans

Albert Peter Burleigh

condoleezza rice

Jerome Bonnafont

65. The world Bank recently approved a $200 Million Loan to which Indian State in order to help it become India's first Carbon Neutral State-

Haryana

Arunachal Pradesh

Assam

Himachal Pradesh-Ans

66. Who is the Current Union Rural Development Minister?

Kapil Sibal

Jairam Ramesh-Ans

Kamal Nath

Anand Sharma

67 Which State recently Engaged DMRC for a 560 - KM Bullet Train project in its territory?

Arunachal Pradesh

Karnataka

Kerala-Ans

Tamilnadu

68. Which Indian state is said to have best literacy rate (About 94 % Literacy) ?

Tamilnadu

Kerala-Ans

Karnataka

Goa

69. Which Rashtriya Lok Dal (RLD) leader recently Joined Union Ministers' Cabinet as Civil Aviation Minister -

Ajit Singh-Ans

Jayant Chaudhary

Sanjay Singh Chauhan

Sarika Singh

70. Who is the Current Indian Foreign Secretary ?

A K Seth

Ranjan Mathai-Ans

U K Sinha

M S Ahluwalia

Arithmetical Ability

1.   The product of 2 numbers is 1575 and their quotient is 9/7. Then the sum of the numbers is –  

a.   74

b.   78

c.   80

d.   90

Ans : Let the numbers be x and y .

∴  xy = 1575

And  x/y = 9/7

∴  xy/x/y = 1575/9/7

∴   y2  = 1225

∴ y = 35 and x = 45

∴  The sum of the numbers = 45+35

  = 80

2.   The value of (81)3.6 * (9)2.7/ (81)4.2 * (3) is __

 a.   3

b.   6

c.   9

d.   8.2

Ans : (81)3.6 * (9)2.7/(81)4.2 * (3) = (3)14.4 * (3)5.4/(3)16.8 * (3)

= 314.4+5.4-16.8-1

= 32

= 9

3.   √6+√6+√6+… is equal to –

a.   2

b.   5

c.   4

d.   3

Ans : Let √6+√6+√6+…. be x.

∴   x =√6+x

∴   x2 = 6+x

∴   x2 + x – 6 = 0

∴   (x-3) (x+2) = 0

∴   x = 3

4.   The sum of the squares of two natural consecutive odd numbers is 394. The sum of the numbers is –

a.   24

b.   32

c.   40

d.   28

Ans : Let the consecutive odd numbers be x and (x+2)

? x2 + (x + 2)2 = 394

∴  x2 + x2 + 4x + 4 = 394

∴  2 x2 +4x – 390 = 0

∴  x2 + 2x – 195 = 0

∴ (x +15) (x-13) = 0

∴  x = 13

∴   Required sum = 13 +15 =28

5.   When (6767 +67) is divided by 68, the remainder is-

a.   1

b.   63

c.   66

d.   67

Ans:  (6767+ 67) = 67(6766 + 166)

As 66 is an even number

∴  6766 is an even number

∴  (6766 + 1) is perfectly divisible by (67 + 1)

i.e. 68

∴  The remainder = 67

6.   In a division sum, the divisor is 4 times the quotient and twice the remainder. If a and b are respectively the divisor and the dividend then-

a.   4b-a2 /a  =3

b.   4b-2a /a2 =2

c.   (a+1)2 = 4b

d.   A(a+2)/b = 4

Ans : As  divisor is a, and dividend is b.

∴   Quotient = a/4

And Remainder = a/2

∴   b = a * a/4 + a/2

∴   4b = a2 + 2a

∴   a(a+2)/b = 4

7.   If 738 A6A is divisible by 11, then the value of A is-

a.   6

b.   3

c.   9

d.   1

Ans :  As 738A6 A is divisible by 11.

∴   A + A + 3 = 6 + 8 + 7

∴   A = 9

8.   The east positive integer that should be subtracted from 3011 * 3012 so that the difference is perfect square is-

a.   3009

b.   3010

c.   3011

d.   3012

Ans :  ? 3011 * 3012 = 3011 (3011 + 1)

= (3011)2 + 3011

∴   Required least number = 3011

9.   P, Q, R are employed to do a work for Rs. 5750. P and Q together finished 19/23 of work and Q and R together finished 8/23 of work. Wage of Q, in rupees, is-

a.   2850

b.   3750

c.   2750

d.   1000

Ans :  Work done by Q = 19/23 + 8/23 – 1

4/23

∴  Wage of Q = 4/23 * 5750

= Rs. 1000

10.  A can do a piece of work in 24 day, B in 32 days and C in 64 days. All begin  to do it together, but A leaves after 6 days and B leaves 6 days before the completion of the work. How many days did the work last?

a.   15

b.   20

c.   18

d.   30

Ans :  Work done by A = 6/24 = ¼

Work done by B = (x-6)/32

(where x is no. of days in which work is competed)

?  ¼ + x – 6/32 + x/64 = 1

∴  16 + 24 – 12 + x /64 = 1

∴  3x + 4 = 64

∴  x = 60/3 = 20 days

11.  The square root of (0.75)3 /1-0.75 + [0.75 + 90.75)2 +1] is-

a.   1

b.   2

c.   3

d.   4

Ans :  The square root of

[(0.75)3/1 – 0.75 + {0.75 + (0.75)2 + 1}]

= √1.6875 + 2.3125

=√4

= 2

12.  Given that √4096 = 64, the value of √4096 + √40.96 +√0.004096 is-

a.   70.4

b.   70.464

c.   71.104

d.   71.4

Ans : Given Exp. = √4096 + √40.96 +√0.004096

= 64 + 6.4 + 0.064

= 70.464

13.  By selling an article at 3/4th of the marked price, there is a gain of 25%. The ratio of the marked price and the cost price is-

a.   5 : 3

b.   3 : 5

c.   3 : 4

d.   4 : 3

Ans :  Let of M.P. be Rs. x.

∴ S.P. = Rs.3x/4

and C.P. = 3x/4 * 100/125

= Rs.3x/5

∴ required ratio = x: 3x/5

= 5:3

14.  A and B earn in the ratio 2:1. They spend in the ratio 5:3 and save in the ratio 4:1. If the total monthly savings of both A and B are Rs.5,000, the monthly income of B is-

a.   Rs.7,000

b.   Rs.14,000

c.   Rs.5,000

d.   Rs.10,000

Ans :  Let the monthly income of B be Rs. x.

∴  Monthly income of A = Rs. 2x and

Saving of A =5000 * 4/(4 + 1)

= Rs. 4000

Saving of B = Rs.1000

? 2x – 4000/x-1000 = 5/3

⇒  6x – 12000 = 5x – 5000

∴&nbs
